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Twenty six agents must choose a delegation of three representatives out of

five candidates (�� �� �� ���), over which they have preferences represented in the

following table,
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If they use a consistent majoritarian rule, each one of the chosen delegates should

be a Condorcet winner for the set of voters that he represents. Who represents

whom can be specified in several ways. For example, we could assume that voters

only get the chance to communicate with one delegate, and that this is the one

we call his “representative”. But here we concentrate on the case where, once the

delegation is chosen, each voter identifies as his representative the one delegate

2



that he likes most. There are ten possible delegations, ���� ���� ���� ���� ����
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 � � �1k� �1��� �� �̄ �  ! (�S1k�1��i�� 1) ���1 �1�� �1k 
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